000 bchDbc=ad+1DDDDDDDDDD
O000000omn O000000000000000 (¢ = ad+lfp)

2 31

0Dooo 5
noooo 3 5 2 1
1 7 3 1
20090 60 120 5 4 1

O0ooo (ooooo) goooooooo 20090 60 120 1/18 oooo (oooa) goooooooo 20090 60 120 2/18

e 10000000 DNDNDNDODOONONODOODD ) 5 ’ 1 ° 3 ? 1 '
e 0000D0O0ONDDODOOONOD100000 5 4 4 1
oooo 3 5 1

o U UUUOOUOUDLLDbOLDLLDLOUUOOOO

e JUUDDDUUUUDLDbOUUUIODULUODLDO
good

oooo (ooooo) oooooooono 20090 60 120 3/18 oooo (oooo) oooooooono 2009 0 6 0 120 4/18



000 (A,0) 0000 (430)
X1 X4 X X

7 3
X2 X6 X9 X2
X2 X3

X4 X1

X

X2

X

X1 3 5

X5 Xs X1
x4 - x2+1/x1, xs _— x2+1/x3’

e x+1
x3 /xl x6 - x4x5+1/x2 — X§+2.X'2+1+X1X3/xlx2x3,

x4 ] x3+1/x2 -_— x1+x2+1/x1x2

x7 -_ x6+1/x4 = eee =— 1+x2+x1x3/x2x3,
X5 = Yatlfyy = oe0 = 01ty

x8 - x6+1/x5 = ecee — 1+x2+x1x3/x1x2,

— xetl _ (x+l XX _
xXe = *s*+1fx, = ( o T ) Tl - X1 X9 = ¥1xs+1fp0 = o o0 = T4xixsfy, .
—_ —_ X2
x7 —_— x6+1/x5 - (xl + 1) . Tl - x2 xlO ] JC9+1/x7 — cee — x3, xll e x9+1/x8 — cee — xl,
[ o000 ooooo)  noooooooo  — em 6020 /i 5300 (55000) 000350000 200 560120 o/1is

X

X X X X
@ 0000000000 00000000000 T
00000 x,x,x)000000000000 2 7 “ 3

0000000000000000000000 *3 Y6 *10 uxmxlh

oo0oooon X4 *8 x

Q@ OD00Ul0DDDOO0U00OD0OoOO0OoooOoooon
gbogobboooobgooobooood

= 1
@ 0000000 ODODODODOODOOOOOOOOO N

2 2
00000000 X10 = x2x4+x2x4+x2+x2x3+1+x3+x1x3+x1x3/x1x2x3x4,

2
X5 = x2+1/x1’ X¢ = x2x4+1/x3, X7 = x2x4+x2x4+x2+x1x3+1/x1x2x3,

x9 - x1x3+x2x4+1/x2x3,

2
X1 = x1x3+x1x2+x2x4+x3+1/x2x3x4,

X12 = x2+x1x3+1/x1x2’ X13 = X3+1/x4, X14 = x1x3+1/x2

oooo (ooooo) oooooooono 20090 60 120 7/18 oooo (oooo) oooooooono 2009 0 6 0 120 8/18



00000000000000000 (B,O) 000 (G,0)

X1 X3 X5 X7 X1

X1 X3 X5 X1

X X X X X
X3 X4 X X3 2 4 6 8 2
3,.3,2.2

X2 = X2+1l/y xXq = 14233/ = oo = O+ +3243x2+1/,3,,
x3 = tlfy, x4 = 1+x32/x2 = e = x12+x22+2x2+1/x12x2’ 3 [x15 4 , [x: ; 22 / 2
2 X5 = 1+)€4/x3 — ecee — x2+2x2+x1+1/x2x2,
X5 = 1+x4/x3 = cee = X2+14x; /X1X2, ’ s 61rced s 11 Sy
= 1+x = oo = X242x°+3x2x° +14x7+3x°+3x2/,.2,.3
X = 1+x52/x4 — . = 1+x12/x2, X6 5/x4 1 1 2X] 2 2 Z/xlea

x7 e 1+x6/x5 = ecee — xl, xs = 1'|'~"772/3‘;6 - x2

goooodgoggdn

x7 - 1+x6/x5 — ecee — xi+x2+1/x1x2, x8 - 1+x73/x6 - xi+1/x2’

X9 = l+xs/y, = xq, x10 = 1429y = x5

goobogoobbgo

O0ooo (ooooo) goooooooo 20090 60 120 9/18 oooo (oooa) goooooooo 20090 60 120 10/18

0007 (H:0)

X1 X3 Xs X7
X1 X3 Xs X7 X9
X2 X4 X6
X2 X4 X6 Xg
4 4 3 2
_— o 4
x3 e x2+1/x1, x4 - X1 +X3 +4 x,°+6 x; +4.X?2+1/x1 X2 _ ;
343 x,243 441/, 3 X8 _xllzxzs[**]’
X5 = X2 +I X" +d X2+x1 + /xl X2
—_— 1 12 2 4
—_ 1 12 s 2.8 8 34 4 4.4 2 4 5 4 x9 — 7 3[x1 +7x2x18+3x18+3x2 x18+18x23x1
x6 — x18x23 X1 +3x1 +6 x3“xq +8x2x1 +36x2 X1 +3x1 +19x2 x1 +34x2 x1 +4x2 x1 x1x2
4.4 2.4 4 4
+16x14x2+56x25+8x2+1+8x27+28x22+70x24+56x23+28x26+x28], FSxp a2y T3 x4 Ty
7 6 2 4 3 5
— +x9 47 x9+7 X3 +21 x9“+35 x5 +35 x5  +21 x +1]
x7 — 512[x18+3x22x14+5x14x2+2x14+10x23+1+5x24+10x22+x25+5x2], 2 2 2 2 2 2 2
xJx
12

oooo (ooooo) oooooooono 20090 60 120 11/18 oooo (oooo) oooooooono 20090 6 0 120 12/18



0000 ooooooooooooE®o)
1

1 X1 X3 X5 X7
x= —[el, xy = ——[xs],
X1 xX1X2 X2 X4 X6
1 [x] [2]
X5 = *% |, X6 = *% |,
3 8.3 — 2 — 2 4 2
x1x2 xlxz x3 - X2 +1/x1’ x4 - X17+Xx; +2x2 +1/x12x2,
1 1 X5 = x26+3x24+2x12x22+3x22+2x12+x14+1/x13x22,
X7 = [*x], x3= [x],
x3x2 x12x3 6 4.2 4 22 24 2 2
1772 172 Xe = [x1 +2x1 X2 +3x1 +6x1 X2 +3x1 X +3x1 +4x2,
1 X27X1
X9 = ——[*+], x10 = ——[*+], +4x% + % + 1+ 6x,%)
X X X X
12 1 2
X7 = [xls + 2x16x22 + 4x16 + 6x14 + 9x14x22 + 3x24x14 + 12.X‘12)C22
X1 = —[*x], xp2= [#x] 2
- 9 - 9
x9x4 x20x9 + 4x26x12 + 4x12 +12 x12x24 + SXZS +1+10 x26 + leo + 10 x24 + 5x22]
12 1 2
0000000000 oooooooono!

DO000000000000 (Dg0) DO0O00000000000 (Dg0)

X1 X2 X X5 X2 X X5 Xg X
1 2 A3 5 A2 A6 5 A8 46

X9 X X X X X X X X
X4 X7 X7 9 x12 10 13 x12 14 13 x16 14
X5 = 1+x2/x1, X¢ = 1+x2/x3’ X7 = 1+x2/x4’ 11 15 15
Xg = 1+xsxex7/y, = 14302430 +X0+X1X3X8 x w04 X17 X16 X18 X17 X20 X138 _ X1 X2 X3
X19 X19 X4
X X X X9 X X
9 8 10 9 12 10
X1 X1 1 1
x13 - +x2+x1x3x4/x1x2, x14 - +x2+x1x3x4/x2x3,
X9 = (1+x2)2+x1x3x4/x2x3x4, X1 = (1+x2)2+x1x3x4/x1x2x4, X15 = Ho+xinxafy,y,, X1 = 1Hxsxefy),
xX11 = A+x2’+x103x4fx x5, X17 = X1, Xi18 = X3, X19 = Xg,
X1p=—3 [(1+x2)3+(3x2+2)x1x3x4+xix§xi R X20 = X2

2
x1x2x3x4

oooo (ooooo) oooooooono 20090 60 120 15/18 oooo (oooo) oooooooono 20090 6 0 120 16/18



oot odooboon

oo D,

X1 X2 X3 __ o X2 M e e ¥

* *
A " X2 g *[x1x2 & X1 B X4 *x4 *[x4
2
B, : X1 *x, *[x1x, X1 *[x2x334 */:/zzx */x1x2x4 N *[x2x3x4 *{;;x;xix4 *[x1x2%4
*2 */xixz */x2 X2 1%2%3 1X2X3
G, : X1 */x, *[xx, *[x1x, X1 *[x1x2 */i}fisx:a *[x,x3 N *[x1x, *Zx; *[x2x3
X2 */xixz */x':’x; *[x, X2 24 24
H2 . X1 */x1 =l=/xix2 */xixi */xzx; _)JC1 Z:Z X3 N X1 ij X3
P A A
R R E R
1 X2 ¥ x2x2 */ xe)

O0ooo (ooooo) goooooooo 20090 60 120 17/18 oooo (oooa) goooooooo 20090 60 120 18/18



